Modular directional control valves DNC75

DNC75 - Modular directional control valves

Before use, carefully read the GENERAL INSTRUCTIONS FOR USE OF DIRECTIONAL
CONTROL VALVES

BONDIOLI |_:.] 398SDCO03ENOO - 27-08-2019 1
& PAVESI



Technical data

; 60 I/min
Nominal flow 18.5 US gpm
Nominal pressure 3323’:;,-
- . Bim B2A2
. 50 bar [ T T 1
Maximum tank pressure 725 psi i . | | |
Internal leakage . ] 1
8 cm3/min l i
(AorB->PandT) 0.49 in3/min | ‘ ‘ o
p=100 bar (1450 psi) ! | E; | E; | !
-20°C +85°C NBR seals — . — .
Temperature range (max peak +100°C) ‘ o I s o i e ‘ |
-20°C + 130°C HNBR seals P! 5 e ez e ‘ T
from 15 mm2/s to 90 i i
QOil viscosity mm?2/s ‘ _ :
(15 cSt to 90 cSt) | | = 1| M=z 0|
Hydraulic fluids as AP
Fluid defined in ISO 6743-4 ‘ ‘
standard \ l 1 | \
I e e e ——— — L
STANDARD version
Section
M il \:§
15 [
87
=i
=N
==
oilg‘
TN
2 398SDCO03ENQOQ - 27-08-2019

ZoMRIeY 19)



Dimensions DNC75

L 117.5[4.63]
39.5[1.56] 40[1.57] 39.5[1.56] 59[2.32] 58.5[2.3] .
} [o0]
29[1.14] 29[1.14] 56[2.2] h
B1 B2 N
il
o,
o :
3 | <
0
; 1 i &,
sS= N T @
5 5 NP @ 3
S Y O O IS - —
o 0 <t —
gl © P [E& = © 3
& § &,
NG N
¥ |
& 0
IS H N '@
3 | @ @ S
O 1) (.O
©
\A1 \A2
Dimensions per number of sections
Code N° of sections L Weight
mm in kg Ib
E 1 79 3,11 8.3 18,30
@ 2 119 4,69 11 24,25
E 3 159 6,36 14 30,86
E 4 199 7,83 17 37,84
E 5 239 9,41 20 44,09
@ 6 279 10,98 23 50,71
7 319 12,56 26 57,32
8 359 14,13 29 63,93
@ 9 399 15,71 32 70,55
10 439 17,28 35 77,16
BONDIOLI I_:.] 398SDCO03ENOO - 27-08-2019 3
& PAVESI



Characteristic curves

Flow curve P-T

DNC75

I - 3% 7 I R
N~ ~ ~ ~ [ 2 o f ~ N~ ~ ~
o ) o 3] 5SG © o o o o
= 7= P4 7= Z2=z=z = = = 7= 7=
a a o a o D,D/D a %.m_ a a a a
=] 0
LN IV N T T ]eE RN A st = ,,; \ N | |
=rdopd=r et a=FeF A r4=r4 & TN T T £ B o e S e Y R S
[ N N A | | | | 5m e MY L i~ s Lo | | | |
t L t t Y i 7V [ NN [ [ | | [ [ NS = 9 i i i
I N I I I I I I I = L\w\,\wyff I I O I A I o I AN I I
wTwa\/T EEE it e Tl i s B | 1 ¢¢ ./,’ /, I | T I 1 T w\Tw\JMH\w uw”w\ ML,ww\w+\ww\,Tww
SN A VR RE R N N SV O R = 1 X
B ERNAENEREEEE HEEERR / NN | S i |
e il ‘f/L,l;\Lﬂ T i \‘,Lﬂw ' T N R T T
. o} ; AW . o) \
3 i 3t v i Vi o s ERERERRX e | s N |
PR O (A a\,\\%\\,\ JUAEN B LI D -4 - L\\f» A=+ A=+ R T (N u,\\\/\,\ -t -t _4
i I | Y | N [ i I | | I AN I | I I o ! ! N L\ l
. P APV W I
BRI —H3 EEEREEEER XN VEEERE RS ” ” v ,f N— ”
| | | | I | ﬂ | P T L\\p\\—/ (Y T T A N | ! ! 1_9 \-- M )
Sl ol s Bt el i Tl ol el il Sl o il T T T T T e T [ et Mt ¥ i S B i
RN R RN AR AR T o N I O 5\ 3 O A I O YV 103 | | IRNEAYAY |
T T T £y ™~ T T T Te} o [ [ [ | [ | \ | [ [ [ [Fp) o T T T s ' v T T
| | | | | IO Y A Y | > SO I R T I I o O N N O A > | | | o9\ |
s Rl Bl IelE S el S Y e i (el n el = i T T i T TN T i T E= ==fF=q==F=f====fF=g==ls=5=9{\=F=7
,,,,,,,;,/,0| R A = ,,,‘j/,
= 5 Ire) [e) T T T T T T T™ T T EYs) [e) Yy
| | | | | | —u, | | | o | | | | | | 1\ | | | o | | | :— | |
R (A D O U YO I O W =i= AR F 4 ==Fs =1 = =it a=Fe JERP T (S A U At | WO B A
,r ,r ” ” ” L, ,‘ x A’, I p I I I I I I ,rz I I I 5 p I I I I A /,1’ I
I I I I I S ‘o] %) A N I I I LI | I
| | | | | | | | f | < | | | | | | | :W, | RS | | | | 5 ,/ |
JERI T (T A ! A IR (I ' | IR B =k = b=k 4 == b= \+7T‘L\\+w 3 JES N A Y Y B D uw\,ww
00 5 S A R NS il £ O e
i i i i i i % _: | < (0] | | | | | | | L | | < (0] i i i i g -/—
| | | | i | | " | | = Sy A ) A VI O V) S = | | | | [y |
T T \,\\J\\\,\\\,‘\—\)V" ,\\5 va ” ” ” ” ” ” ” ” R ” ” 5 am.v I \J\\\\J\\\\\,fﬂl-l’\,\\
I I I I I I I I I I I I I I -,
T T Rl e © S I - O O © ] ] ] ] Y
e et e R SR S B a1 o s Bt It s B i B+ = e e e e EE TR B b
I I I I I I I AT o © e e e e B =) © I I I I I /—,
TR e 2 R 2
| | | | | | | | L Y N N U U L O IR RN RN L | | | | | '
I R 1w 2 T W il om =2 B 171111171.%*
i ” i ” ” | i ” ” (a\} = I I I I I I I I I ,J, o = ” ” ” | | ._”
T N I T T Y T I i A ™ % R e e e BT = A \+\L\L\’+\ % JER T S T A S O SR IR (e ' M
| | | | | | | | | ' ! ! ! ! ! ! ! ! ! ! ! | | | | | [y
o
O AT A A e e e R ¥ R = R RN (” 5% = | i | | | ”___w
| | | | | | | | | W TR Tl I YT A ) A B IR R VI | | | | | K
AT T T T I A ! wn ! ! ! ! ! ! ! B e R e I TR BRI
L o ool alw L = R O SR Rl E.I_J | (7 | ' i i
o s o E Ll y e R D R
lo e T T Yo B A O I R = o B F [
o ~ I I I I I I R B (O R T O T B A o ~ i i ! !
NG I e R SR S R SR SR B (et sl i W sp=dea==t=c==f=5=o==#=
O A A N I O e T T O T A A R
[ 2 2 | | | | | | | @ | m_ M ! ! ! ! ! ! ! ! ol [ 2 2 | | | |
12§ A p = [ 2 A I o B A B e
L1 I L I L L I 1o -_m e ——— ) bre P L I L L
N OO WSS AN O O < N O ©

=>T

=>T

0|o
0|0
AV

Pressure drops P-A
P>
Pressure drops B1-T

O|O
O|O

O|o
O|O

P>
B1V

[I/min]

ZoMRIeY 19)

Testing parameters: Spool type

10 15 20 25 30 35 40 45 50 55 60 65 70 75 80

&
398SDCO03ENQO - 27-08-2019

0




Characteristic curves DNC75

Metering

[I/m|n]
w i i i i i i i i i
ol R T e o= . == R ==l T N oecipas i ==cip=os
2
VoiL = 21 mm#/ s | =
F B et B B e e B e B B e e e e e e
60 | 0 bar i | i | i | i %2‘ | " |
T = 7% T
|l =—=—-50bar ___|___1___| ___ [ Y S [ Y S L,,,,,,%,,{.&,,,, [ B [ R
T i | i | i | 7 i i i
50 F 100 bar : : : ; : : L Z7 A i i : |
L mee- 150bar ---f-cmbm ool (R 77>l N S N N - ——
! A? Y5
P
S S N R R A R A ‘,,’7,:,/»,',,;,,,,,,,,,,,, I R
30 I I I I I I I ‘/\ P p' I
i i i i i i | Ay v i
i | N J,,/,,",L’/,,,,,,J ,,,,,,,, | [ L1 [
20 | I | I | I ALYV |
/ ’
————————— R ——————T————————‘————f———w————————‘————f—//w—,/—;r‘——‘————————7————————r——— R T e S EETT
| | | | | | P P
10} I P ) e BNl [ S s
a L=

Testing parameters: Spool type

BONDIOLI 398SDCO03ENOO - 27-08-2019
& PAVESI I':.]



DNC75 General options
E Power unit

256.1[10.08] 171.6[6.76]
68.5[2.7] 40[1.57]40[1.57] 68.5[2.7] 39.3[1.55] 99[3.9] 72.6[2.86]
B1 B2 80[3.15]
[ [
— [ 1 |
g j |
. &) o —|iil =
S vy | @O r
z L
=| &
S ONeee s
2 N S >
(o] © |
= &/
E ( o :
40[1.57] A1 A2
The power unit kit will not be supplied with connecting pipes.
@ YT B1 A1 B2 A2
| \ | ]
I | | | | I I
[ [ L [ [ [ [
|
[
I I \ F I ] I \—/\%\ I
I I | I I I I
|
\ ;ﬁ""T > >
|
I | 25bar®——71 | | | I I
| o T A | A - §@
1 1 oA - L
o i et | e |
| i i iy AT T 7 obar
| j} [ | | [ EZ NI | 2 i [ ‘
I LI I i i I gu* I gﬂ* I I
|
I I
I I i } I I I I
[ | | L,,% | | i
\ \
e et s s — ———
6 398SDCO03ENOO - 27-08-2019 BONDIOLI I_i]
& PAVESI



Inlet type DNC75
@ Left (standard) @ Right
B1 B2 B{ ﬂ
1\:“1\:“ 12 =
A joane
|
e T | 2L
B 00aCIS ¢6 ey
(© T2 @)@
u@» A1 A2 e e

Port A is usually the nearest port to the actuator side.

ZopRieL 19)
__DINOIL |

398SDCO03ENOQO - 27-08-2019



Thread ports

Thread ports P - P1

Thread ports A - B

Code Type T‘;\lr?rl"e Code Type T‘ﬂ?‘:’e
@ Not processed E 3/8" GAS ISO 1179 40
1/4" GAS 1SO 1179 28 1/2" GAS 1SO 1179 65
1/2" GAS 1SO 1179 65 M16x1.5 ISO 9974 28
@ M14x1.5 ISO 9974 10 M18x1.5 SO 9974 42
M18x1.5 ISO 9974 42 @ M22x1.5 SO 9974 67
@ M22x1.5 1SO 9974 67 @ M18x1.5 1SO 6149 28
@ M18x1.5 ISO 6149 28 M22x1.5 ISO 6149 67
M22x1.5 1SO 6149 67 E 9/16" - 18 SAE ISO 11926 28
E 9/16" - 18 SAE ISO 11926 28 E 3/4" - 16 SAE ISO 11926 42
E 7/8" - 14 SAE ISO 11926 67 @ 7/8" - 14 SAE 1SO 11926 67

Thread ports T - T2
Code Type T(;‘lrﬁ!:e
@ Not processed
1/4" GAS I1SO 1179 28
1/2" GAS ISO 1179 65
@ M14x1.5 ISO 9974 10
M18x1.5 ISO 9974 42
@ M22x1.5 1SO 9974 67
@ M18x1.5 1SO 6149 28
M22x1.5 1SO 6149 67
E 9/16" - 18 SAE ISO 11926 28
E 7/8" - 14 SAE ISO 11926 67

8 398SDCO03ENOO - 27-08-2019 BONDIOLI

& PAVESI

o)



Actuators DNC75
Standard kit for lever holder @ Lever holder with stroke limiter

M10x1,5

120.3[4.74]

45[1.77]

120.3[4.74]
59[2.32]

160 160
M10x1,5
4! ;/
AV |

69.5[2.74]

61.3[2.41]
M10x1,5

E Without lever holder, standard appendi Without lever holder, without appendix

29[1.14

7[2.24]
©18[0.71]

_ 57[2.24]

&l
2 »9[0.35] ||
3 20.5[0.81]

59[2.32]

@ ®

Without lever holder, flat appendix Cable setting

20[0.79]

‘ ©»24.7[0.97]
M16x1.5

B

v {]_
86.6[3.41]

77.5[3.05]

ZopRieL 19)
__DINOIL |

398SDCO03ENOQO - 27-08-2019 9



DNC75

Actuators

@ Joystick

105[4.13]

M10

80[3.15]

111.1[4.37]

a=Spool 1st section

@ Joystick with spool lock

105[4.13]

6[0.24]

126[4.96]

E Hydraulic control

88.8[3.5] 88.1[3.47]
i

48.9[1.93] 80[3.15] 48.1[1.89]
- — .
®
- -
© —
<
o P H.
&, q’_‘
N
=

b=Spool 2nd section

Joystick functions

= ‘a [ 3 | AB-T
‘a) ra) F 3 W )
I N/ = | BP—
B | |
N_/ L J
FAs) r *1* 7 P-B1
N I A1-T
| Y |
PoB2 - \r ‘ ‘ .~ PoA2
A2-T (\ b/\ U | O | 2 (\ 7 B2-T
o - L

P—A1!

Also available in other configurations.

Y1 X1 [I/mln]
e DIEIEY= 25
Y2 x Lo N I - [ R
0o—=1 B A 2= o 20 :
Y2 ! X2 A =ft = === / ————————
v1 1 (D) paTA X1 15// IER
o N7 e T T
5k * 10
? @ @ /’;(”;” ””” B B
8 | ¥P S
61.5[2.42] \ 124 [4.88]‘ 61.5[2.42] 0 L L
0o 1 2 3 4 5 6 7
247[9.72] mm

10

398SDCO03ENQO - 27-08-2019

BONDIOLI
& PAVESI

o)



Actuators DNC75

@ Pneumatic control

bar
X Y 8 :
| |
99[3.9] !
S O (PR et Bt EEE B I e e e e e
nnn 35.5(1.4 6 : : _-b-"
T | I B - ey
A S I =Ll B o NN I
/ % 4 : : : : : :
0 ‘ ‘ ‘ 1 ! ] I ! ] I
’:‘ © D e R D T
[t9) = bl
B |E oy R RN
© el I L
L & ~ L | | | | | |
~ m ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
0
1/8" GAS 1/8" GAS 0
0 1 2 3 4 5 6

a = Large chamber b = Small chamber a = Large chamber b = Small chamber

The pneumatic actuator is located on the side where the spool control is normally placed and is the main
actuator. The directional control valve will also be supplied as standard with the lever holder on the opposite
side.

BONDIOLI I_:.] 398SDCO03ENOO - 27-08-2019 11
& PAVESI



DNC75 Electro-pneumatic control

| U | Dual effect | 1 |Simple effect port A

106[4.17]
[ | |
3 < =
< <
(90} (sp]
wn To]
B B
<, 1/8" GAS <
< | — < — 1
- C = &
© (o]
= [ T L
a = Large chamber b = Small chamber b = Small chamber
@ Simple effect port B Electro-pneumatic control
[bar]
8 :
7 | | | | J‘
6 T
S - LT T
140(5.51] S LT L |
| =TT
- g‘ = =T |
N \ Lo
~ | | | | |
S)) 3 I I 3 I I
N R D R S ””” H
<, 1/8" GAS 2
= 1 ]
3% ¢ ly e T o o e
- lil J 1 I
[(e] |
: r L Fe=d===f==a===g===F==q=== F==g=== L 777777 Fe===F== G===
o ‘
0 1 2 3 4 5 6 7
mm
a = Large chamber a = Large chamber b = Small chamber
12 398SDCO03ENOO - 27-08-2019 BONDIOLI I_i]
& PAVESI



Electro-hydraulic control DNC75

| H | Dual effect
248[9.76] 177.5[6.99]
66[2.6] 124[4.88] 58[2.28] 116[4.57] 61.5[2.42]
P
=
(aV]
S %
[+
© —
] o o -
N~
5 -
[ ©) I
% T a ~
S| - ‘ ‘ i
e a8
o T © ©
S| o
IYo) <~ 93— —
[
&
;& | |
©
o —
0
\;-‘ #
3 CH
- ,,YT - 751 A1 - 75?71\2 -
o L] | 1]
I I STt Tt =X I
| I I I

I
4 —
25bar } 777£ ,,,%
I I TR I I I
[ |4 Lo s N | i . | [
| | F e Clw
P L | o o - H o .4
‘r \T T 1> j LA T /Vm
I *ﬂ‘ | } } I Dt ™ I D ~ I !
I | | I I I
I
A R e e
} } . [
I I o I | Il | I
I o [ [ | o [ [
L Sk dahs ettt I e A X | v2
L,, [ _ [ _ _ [ _ [

For electro-hydraulic actuation, you must select a power supply in the general options.

BONDIOLI 398SDCO03ENOO - 27-08-2019
& PAVESI I':.]

13



DNC75 Spool types
Spool type Positions
1 o 2 3 1 0 2 4
B A
TTTIEL] L P-B | PT PSA
X A-T AB— BT
D T B BP — BP — BP —
Spool type Positions
1 0 2 3 1 0 2 4
B A
- L L P—-B |[AB—-T| P—-A
e v BP— | BP— | BP—
Spool type Positions
1 o 2 3 1 0 2 4
B A
T TF1L 7« A-T PT— P—>A
P’ B _-I A, B __I B, T _|
- P BP—»>  BP—  BP—
Spool type Positions
3 1 0 2 4
1 B ° A 2
B Ry T P —>_B| PT j|-| A—
A’ T A, B B e d T
Tl N BP | o .
Spool type Positions
3 1 0 2 4
it le AB-T PoB RTH | PoA
bl lrelrls >T< P —I A—T A, B— B—-T
T BP — BP — BP — BP —
Spool type Positions
3 1 0 2 4
1 B (1] A 2
X A->T PB— | BT
B T B BP— | BP—> | BP—]
14 398SDCO03ENO0O - 27-08-2019

foNRIeL 13
___DINOIL



DNC75

Spool types
Spool type Positions
1 0 2 3 1 0 2 4
B A
T T \T T 8P| i o]
Spool type Positions
3 1 0 2 4
1 0 2 4
T BA T B P—-B P,T__I P_A AB->T
HINEDAL: AT AB— | BT P
PT BP—l BP — Bp_l BP

ZoNRioL 1]
___DINOIL

398SDCO03ENOQO - 27-08-2019

15



Spool control

Neutral position in 0

Detentin0, 1, 2

3 1 (1] 2

b

Neutral position in 0, detent in 3

Neutral position in 0,
detent in 1

Neutral position in 2

Neutral position in 0, detent in 4

1 o 2

]

Neutral position in 0,
detent in 2

Neutral position in 1

For kick-off

16

398SDCO03ENQO - 27-08-2019

ZoMRIeY 19)
__DINOIL |



Valve type port A-B DNC75

Anticavitation valve

T2
ol = T =
S E N Y
0| 0 —Irlr AN ‘ P
| & ‘
T | —T—
T (¢
- +
VC-B VC-B1
61.4[2.42] 61.4[2.42] 68.5[2.7] 40[1.57] 68.5[2.7]
122.8[4.83] 176.9(6.96
This option includes special cast iron
B1 A1 B2 A2
\ - - B T T *”fffj
|
| | | | |
VC-B1 VC-A1 VC-B2 VC-A2
I I T_Q_:—/,_Q_T I T—QH;Z_Q—T I I
| | Lo | L | |
| | = | = | |
B TE] ]
| | :—F B | :i B | |
I I @ I @ I I
P o T < T
= I = H— u
> >
! ‘ <~ ‘ <~ ‘ !
| | | I I
] T=s =g
| M H | | | |
| | | I I
| | | I I
| | | | T2
BONDIOLI I_:.] 398SDCO03ENOO - 27-08-2019 17
& PAVESI



Valve type port A-B

Pressure limiter and anticavitation cartridge

117.5[4.63]
116.5[4.59]

|
I
@

LC-B LC-B1
61.4[2.42] 61.4[2.42] 68.5[2.7] |40[1.57]| 68.5[2.7]
122.8[4.83] 176.9[6.96]
This option includes special cast iron
B1 A1 B2 A2
| - T - - T ]
l Lc-B1 f i LC-A1, Lc-B2 f i LC-A2, l
[ 6 ] o [ \_Q_Q;:_Q_f [ ‘
! N | L | I
I - I - I I
| go | Ej | |
N N
H B = -
| i | — | |
P‘ o[ Fmfo e l:uo ‘ ‘ T
— O i——
= > = >
: <~ : <d o~ : :
o =33 =3

M J T ON T aonN ‘
| | | |
| | | |
‘ : : T2

18

398SDCO03ENQO - 27-08-2019

ZoMRIeY 19)
__DINOIL |



Lever options

Straight standard knob

Code Description h [mm] h [in]
E Straigrlltn gtgndard 109 43
Straig% (s)tgndard 134 508
Straigrlltn (s)tgndard 184 7.24 [ ]
@ Straigrlw(’:q (s)tgndard 214 8,42
E Straigklltn gtgndard 254 10
E Straigr'l’:q gtgndard 304 11,97
U
Ergonomic lever
Code Description h [mm] h [in]
Straight vertical 180 7.09
@ Bent 15° vertical 180 7.09
@ Bent 30° vertical 180 7.09
@ Straight horizontal 180 7.09
Bent 15° horizontal 180 7.09
@ Bent 30° horizontal 180 7.09
BONDIOLI 398SDCO03ENOQO - 27-08-2019 19

& PAVESI

o)



Lever holder position

Straight

Rotated 180°

176.9[6.97]
68.5[2.7] 40[1.57] 68.5[2.7]

=

S, '~ 8

< N~

R
S| [
8 ¢ 8
- = 3 68.5(2.7] |40[1.57] 68.4[2.69]
o 176.9(6.97]
20 398SDCO03ENOO - 27-08-2019 BONDIOLI

& PAVESI

o)



Spool control options DNC75

Stroke limiter @ Male dual control
51.5[2.03] 75.1[2.96]
20[0.79] Gy
o
o
&
= -
3, 2 2 |28
5] 5 5 3
o~ = ®
o o
S 3
Cable fitting
126.5[4.98]
] .
e
J o 3
2 8
BONDIOLI I_:.] 398SDCO03ENOQO - 27-08-2019 21
& PAVESI



DNC75 Spool control options

Microswitch Characteristics of microswitch positioner

16(5)A at 250V A.C 50 Hz

_ Contact rating 3A at 30V D.C. L/R= 5 ms
[e ]
e © HE 2 Temperature range -20°t0 85° C
g Expected mechanical life 10 million cycles at 1 Hz
N ! i Insulation Up to 100 MQ
| |«
o [ I 5 =
J >
70.1[2.76]
71.3[2.81]
Dual effect microswitch E Simple effect microswitch port A
MICRO CONTACTS MICRO CONTACTS
POS.1 POS.0 POS.2 POS.1 POS.0 POS.2
@ Simple effect microswitch port B
MICRO CONTACTS
POS.1 POS.0 POS.2
22 398SDCO03ENOO - 27-08-2019 BONDIOLI I_g
& PAVESI



C.O. - Carry Over DNC75

Carry-over port T1

B'l B2 — 08
\ T2 T2
| ﬁ

%;

//Q\\
&
&)
=

h
© © |
C K‘J ) ~
J \A1 A2
All the DNC75 directional control valves are set up
for C.O. (carry-over)
- B B17A1 777327A2 -
T T T
| | | |
| 7 N | N4 | |
—1 ——
| | | | |
! - -
| F i
P : 1 jiLo 1 ?T mo 1 \_Jc_o
| M[} | I=e | [=s |
I | | | I
I | | | I
R B e (L
BONDIOLI I_:.] 398SDCO03ENOO - 27-08-2019 23
& PAVESI



DNC75 Special options

P lateral
B1 B2 ﬂ B1 B2
E%M/L/F i lminiva
P1 e P1 T e
~Nm T ~n T
oo eers
P NS = P =
C )
O © O O
P2
A1 \A2 A1 \A2
P2 ~ B1A1 B2 A2
] 1
P s s U T
| — — — — — ~—{T2
24 398SDCO03ENOO - 27-08-2019 BONDIOLI I_g
& PAVESI



Special options

T2 laterally opposite

B1 B2

B1 A1 B2 A2
o R
: X —— - T2
| ——— I| l ] {L I —
//_ I _\\ T ‘ ‘ Jé; g I |
P Q O%H/ P ::i};r } : Fi;r | .
' P = =
a AL
9)%@ T2 | | | | |
ﬁ a1 a2 [ = B Ly
T1 upper
Bj.l::ﬂz:ﬁ - B1a B2A2 T
\ \ F T T T 1‘
E=——n - .
7 I § T | ‘ Jé; ‘ Eﬁ: | |
P Q @ Hﬁ p: :Z;io—f :Zi;r | :'r
' ' A T ) T |
i AL
= = ‘ ! ‘ [ [
LEJ \ﬂ \Q I e — S e
BONDIOLI 398SDCO03ENOQO - 27-08-2019 o5

o)

& PAVESI



DNC75 Special options

For more information on the special options, please contact the Bondioli e Pavesi technical department.

26 398SDCO03ENOO - 27-08-2019 BONDIOLI
& PAVESI I'g



Special options DNC75

BONDIOLI |_:.] 398SDCO03ENOO - 27-08-2019 27
& PAVESI



Instructions for ordering

Repeat for each section of the valve

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16
1 Number of sections
1 1 Section 4 4 Sections 7 7 Sections A 10 Sections
2 2 Sections 5 5 Sections 8 8 Sections
3 3 Sections 6 6 Sections 9 9 Sections
2 General options
N None Z Zinc plating B Ebfgfa'nted and power
V Black paint A Power unit E Zinc plating and power supply
3 Inlet type
S Left (standard) D Right
4 Thread port P
0 Not processed 3 M14x1.51S0 9974 W M18x1.51S0O 6149 R 7/8"-14 SAEISO 11926
L 1/4"GASISO 1179 C M18x1.51S0 9974 J M22x1.51S0 6149
B 1/2" GASISO 1179 N M22x1.51S0 9974 P 9/16" - 18 SAEISO 11926
5 Thread port P1
0 Not processed 3 M14x1.51S0 9974 W M18x1.51SO 6149 R 7/8"-14 SAEISO 11926
L 1/4" GASISO 1179 C M18x1.51S0 9974 J M22x1.51S0 6149
B 1/2" GASISO 1179 N M22x1.51S0 9974 P 9/16" -18 SAEISO 11926
6 Options on port P - P1
] A 'é%%%% d')31 not processed C P open-P1open E P plugged - P1 open
B P not processed - P1 open D Popen-P1 plugged
7 8 Maximum pressure relief valve type
00 VMP replacement plug 15 150 bar 21 210bar 27 270 bar
10 100 bar 16 160 bar 22 220 bar 28 280 bar
11 110 bar 17 170 bar 23 230 bar 29 290 bar
12 120 bar 18 180 bar 24 240 bar 30 300 bar
13 130 bar 19 190 bar 25 250 bar
14 140 bar 20 200 bar 26 260 bar
9 Sealing type maximum pressure relief valve
G Grub screw C Cap P Sealed N None
10 Thread ports A - B
A 3/8"GASISO 1179 C M18x1.51S0 9974 J M22x1.51S0 6149 R 7/8"-14 SAEISO 11926
B 1/2" GASISO 1179 N M22x1.51S0 9974 P 9/16" -18 SAEISO 11926
T M16x1.51S0 9974 W M18x1.51S0 6149 E 3/4"-16 SAEISO 11926
11 Actuator
] N None Z  Lever holder with stroke limiter P Pneumatic control S S|n%Ie effectAeIectro hydraulic
L Standard kit for lever holder T Cable setting U lggatlrgﬁect electro-pneumatic  x gg‘rﬂle effect electro -hydraulic
— W|thout Iever holder, standard ; Simple effect electro-
A W appen t I holder without M Joystick ! gneﬁlmatflfc controlt port A
i ou lever holder, withou e wi imple effect electro-
B a % t | oo fat G Joystick with spool lock w ”e?”%faéé? C|°nttr0| odrt B .
c Withoutlever holde, fe K Hydrauiic control H  Dual effect eleciro-hydrauiic
28 398SDCO03ENQO - 27-08-2019 BONDIOLI

o)

& PAVESI



Instructions for ordering

17 18 19 20 21 22 23 24 25 26 27 28 29 30 31 32
12 13 Spool types

01 Spool type 04 Spool type 07 Spool type 10 Spool type

03 Spool type 05 Spool type 08 Spool type 70 Spool type
14 Spool options

A Standard spool 45-70 I/min (o} m%kel—plated spool 45-70V/ N None

B Standardspool20-45/min D Nickel-plated spool 20-45/
15 16 Spool control

NN None oc léleutral position in 0, detent in NS l:\sleutral position in 0, detent in KD For kick-off

OA Neutral position in 0 OD Detentin0,1,2 OR Neutral position in 2

0B l1\leutral position in 0, detent in NT l‘\‘leutral position in 0, detent in 0S Neutral position in 1 Iégra lcs)?éerctlon, see the relevant
17 18 Valve type port A

NN None TP Processed and plugged VC Anticavitation valve LC 2;?%%?;{%geéaﬁ%ge
19 20 Setting LC valve on port A

00 None 15 LC 150 bar 21 LC 210 bar 27 LC 270 bar

10 LC 100 bar 16 LC 160 bar 22 LC 220 bar 28 LC 280 bar

11 LC 110 bar 17 LC 170 bar 23 LC 230 bar 29 LC 290 bar

12 LC 120 bar 18 LC 180 bar 24 LC 240 bar 30 LC 300 bar

13 LC 130 bar 19 LC 190 bar 25 LC 250 bar

14 LC 140 bar 20 LC 200 bar 26 LC 260 bar
21 22 Valve type port B

NN None TP Processed and plugged VC Anticavitation valve LC EE?%%?;{%g%a?‘tr}%ge
23 24 Setting LC valve on port B

00 None 15 LC 150 bar 21 LC 210 bar 27 LC 270 bar

10 LC 100 bar 16 LC 160 bar 22 LC 220 bar 28 LC 280 bar

11 LC 110 bar 17 LC 170 bar 23 LC 230 bar 29 LC 290 bar

12 LC 120 bar 18 LC 180 bar 24 LC 240 bar 30 LC 300 bar

13 LC 130 bar 19 LC 190 bar 25 LC 250 bar

14 LC 140 bar 20 LC 200 bar 26 LC 260 bar
o5 Lever options

N None C h184mm/7.24in L Straight vertical Y Bent 15° horizontal

S Without lever D h214mm/8.42in O Bent 15° vertical Q Bent 30° horizontal

A h109mm/4.3in E h254mm/10in R Bent 30° vertical

B h134mm/5.28in F h304mm/11.97 in M Straight horizontal
26 Lever holder position

A Straight C Rotated 180° N None
27 Spool control options

N None M Male dual control Y Dual effect microswitch o SBlmpIe effect microswitch port

C  Stroke limiter T Cable fitting P | e

BONDIOLI 398SDCO03ENOQO - 27-08-2019 29

& PAVESI

o)



DNC75 Instructions for ordering

o8 Voltage and connector
N None B 24V DIN 43650 H 24V DEUTSCH DT04-2P
A 12V DIN 43650 G 12V DEUTSCH DT04-2P
29 Thread port T
0 Not processed 3 M14x1.51S0 9974 W M18x1.51S0 6149 R 7/8"-14 SAEISO 11926
L 1/4"GASISO 1179 C M18x1.51S0 9974 J M22x1.51S0 6149
B 1/2" GASISO 1179 N M22x1.51S0 9974 P 9/16" -18 SAEISO 11926
30 Thread port T2
L 1/4" GASISO 1179 C M18x1.51S0 9974 J M22x1.51S0 6149
B 1/2" GASISO 1179 N M22x1.5ISO 9974 P 9/16"-18 SAEISO 11926
3 M14x1.51S0 9974 W M18x1.51S0O 6149 R 7/8"-14 SAEISO 11926
31 Options on port T - T2
A T open - T2 open (standard) B Topen - T2 plugged C T not processed - T2 open D T plugged - T2 open
32 Discharge options
A Carry-over option (standard) B With carry-over port T
30 398SDCO03ENOO - 27-08-2019 BONDIOLI I_.]



